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M.Com. (Final) Examination
Cost and Management Accounting
Paper : MCOM-08

Time : 3 Hours | [ Maximum Marks : 80

Note .— The question paper is divided into three Sections

A, B and C. Write answers as per the given

instructions.
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Section—-A 8x2=16

(Very Short Answer Type Questions)
Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one

sentence or maximum up to 30 words. Each

question carries 2 marks.
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1. (1) What is meant by Cost ?
AN Y AN ¥ 2

(ii)) What is meant by reorder level ? Give

formula.
TR WR W N IWE ¥ 2 gA o i
(ii1) What is meant by Overhead ?

IR | o AWE § ?

(iv) What is meant by Process Costing ?

gfsran IfieaamerT & =1 3WE § ?

(v) Define budget in cost accounting.

AN @R | Soie sl R sife

(vi) Define management accounting.

YIEeh 1T G- ! TR shiferg |
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(vii) What do you mean by trend analysis ?

pfa faveioor ¥ o9 F1 THsd ¥ 2

freafafed gemel @ onfds sRY A0 qen wfa o s
feu M 91 3TRYN I @A &I UM HifT

(viii) Define ABC. R —— 200 o
foran smenfia oraeRa 1 Rt wifsa .
AN 9fd SohTe % 30
Section-B 4x8=32
fafm w yem &t aiftw 0
(Short Answer Type Questions) = < 10%
Note — Answer any four questions. Each answer should not Atk ferren si <o = 31
exceed 200 words. Each question carries 8 marks. ST 2 9 e 3 100
Qg —d . .
3. The normal weekly time of a factory is 48 hrs. The
(g T q9)

wage rate is ¥ 4 per hour. Shyam worked for 10,

fdor .- for=dl o) wedl & S dfSu e9 s SR

sfasram 200 vsgi H UfiEifgg wifST) gdw 99
8 % H ¥ week of January 2010, what will be the total wage

9, 8, 19, 11 and 8 hours respectively in the first

2. From the following information, calculate the payment to him and also state what will be the

economic order quantity and the number of orders
to be replaced per year :

Annual consumption 800 Units
Cost per unit T 30
Annual return on investment 10%

Rent and insurance expenses per year 1

Cost of placing an order % 100
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direct wage and overtime wage from accounting

point of view.

T HREM 1 AAfEeHh T 48 ¥ T 9 TSIl 1 X T 4
i Her B0 vAM ¥ SR 2010 & Yed TwE H wE:
10,9, 8, 19, 11 Ten 8 =12 =1 fohan T 1 S9! <t w1 arel
e FSIG 1 BRT A2 8 oft SIS foh Sreiend o gieeehlol
H e FSIGY a9 SATUHHT HSIgd a° e ?
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. Differentiate between current ratio/liquid ratio.

a1 WA ATI H SR IRy |

. State the main objectives of fund flow statement.

T YaTe faere & & 39 Jasl |

. What is the meaning of ‘standing charges’ in
operating costing ?

e @ B T = | o aed § 2

. What do you mean by Economic Batch Quantity

in batch costing method ?
ool o |e1 @ o o gHe € 2

. State the assumption and limitations of break-even

analysis.
Tafassg fageroor 1 AEd 9 EHd SqET |

. Explain the cost estimation for decision-making

process with illustration or example.

T emenfia fAofei st gferan Semewr gfed sasu |
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Note .— Answer any two questions. You have to delimit

a9 .- =81 91 w9l & SR SIfST | o9 3T SR Al AfereRan
500 a1 § uREifid ST 9% 999 16 37 T 8|

Section—-C 2x16=32

(Long Answer Type Questions)

your each answer maximum up to 500 words.

Each question carries 16 marks.
gus—d
(& 3T ug)

10. What are the Cost Account ? In what way their

11.

MCOM=08/ 7 (6)

preparation is helpful to a large manufacturing

process.

TNTA o &1 B € 2 SRl GOR i Uk Set At
TE & fou feg goR | 9eEs B § ?

Describe difference between direct expenses and
indirect expenses. What type of expenses are

included in the direct expenses ?

T AT qAT STHA] o9 B AR Il YA =
& 3=ia fohd YR & = wimfod fed Sa € ?
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12. What do you mean by labour turnover ? Discuss
the various methods of its measurement and
explain what is the import of labour turnover on

working of an manufacturing concern ?

g Treprelt & 1 qead ® 7 3@ Ao &t fafve fafer
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13. Distinguish between the following :
(@) Cost allocation and overhead apportionment
(b) Carriage inward and carriage outward

o o~

4 faVa
[N lNIECH ﬁ S <nllSId 2

(31) AF eMEed qa SURHT STTAN
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